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(Limits of the Complex Functions) daaall J) sall ciad)

f(Z) Wl 08563 7 = X +1iy, s pam G A f(Z) =u(X, y) +iv(x,y) oS
Q‘Lﬁ‘ Zo » Z <y Laic Wy = Ug + iV &le

lim f(Z) =W, =u, +iv,

77,
131 Jas 4 13}

lim u(x,y)=u, and lim v(x,y)=vVv
(x,y)»(xo,y())( ¥) =g (x,nyo,yo)( Y)=Ve

bl o) el e Zg Adaiill I ol SBY) die s g Aad

.(0,0) dagdl dic dle elles AL AN CI6 1) Logd . Jlie

r@={z %o

Jim, £(0) =0
y—-0*

lip £(0) = 3i
y—0~

Dbl e A £ el e 3
(0,0) Akl vie dle GLGY all 3

Properties of limits ©LWJI ailas
ol Jim f(2)=L & Jim g(Z2) = M 689 Z 319> f(2) & g(Z) <5813}
LIim[f(Z)+g(D)] =Lt M

2. lim [f(2) x g(@D)] = Lx M

3. lim &2 = L
Z—Z, 9(Z) M
4. lim — =21
Z—Zy 9(Z) M

5. Jbuwgn 8uacld| (L' Hospital's Rule)

lim £2 = |im L2

if the first limits dose not exist
Z-2,9(Z)  7Z-Z,9'(Z) f f
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;A Jlguld Ll a> Jbe

5Z+1 5+i5+1 6+i5 1

=

lim = = =—(50+i
z-1+i5Z —i S5+4i5—i 5+ i4 41( )
2. L;in;,(zz+4z—2)=—4+8.r:—2=—6+8.::
=21
iZ3 -1 i3 -1 1-1
Z-i L+ i+i 210
i_ng
AR (2‘33) +8 8e'™ + 8
it 74 2 P— iy 2 41 i2m
Z—»Ze?z +42°+16 (29%) +4(29%) +16 1l6e3 +16e3 +16
B -8+8 0
16[—0.5 — i0.866 — 0.5 + i0.866 + 1] 0
Jluaw g 8ueld ausuiiw Lld (dladl D99 pdal
2 = 372 _32( VA )_3( VA )
f 473487 47\Z2+2) 4\ZZ2+2
[, )
' 3( VA )—BI 2e73 |_3(0.5+i0.866)_0375 0917
M, 2\7252) 72 i 2 “a\T1+a732) " -
Z—2e 3 \(293) +2}
lim 221523 | e e Aol
1m ’ .
>- zom—72+32 -1 3""
itz
lim = -2
Z—>oo_1+§_i
Z 72
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AW Jlgll Ble ax

5Z—5
1. lim
700 —47 + 1
5 . Z42—-i71
' zglz“i[ﬂ +Z - 1]
' Z-1D+Z2-1)
Zl—r}} Z16 — 1

(Continuity) 4! iy

bg ) Ggiady Wylezr Zg 3 Wy @3 13) Z = Zg dads (§ Spainn W = f(Z) D) Yo Gllay
:4Jull

thzé,&é).mf(Z) A
f(Z):222—32+2
f()=2-3+2=1
Bagq-gnz]_inzl f(Z) 4 2
—4g
%in}(222—32+2):2—3+2:1
f(Zo) s\ lim f(Z) &1 .3
4y

imf(Z2) =1=f(2)

1 p Olelaiil e le gain ASYIE1gY
LW J) Jeed DIl dod .1
f(Z)=tan(Z) atZ :g = f(Z) =

f(Z) = atZ=1= f(Z)=o

Z—1
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Derivative daidiwl!
o WS (f1(Zo) iS39) Zo Aniidl (3 \giiziu O D Jlomall (§ d3520l £(Z) DI
7)) - f(Z
ff(zﬂ)zzli_fgf( Z)_]Z“(E 0)
Z)—f(Z

Zy & V) Blansl oSl 13) Zg Aaiidl § GUxad abs D1l 0sSs

Differentiation Formulas @i cpil¢d

d
1. — =0
dx(c)
2. _— == ; = t t
T (cx) =c¢ ; ¢ = constan
3. E(an) = nex™ !
4 d ot _du dv dw+
. dx(u_v_w_m)_dx_dx_dx_m
c d( ) = du
B
6 d( ) = dv+ du
Lo TR T I
2 d( ) = dw+ dv+ du
. = UVW) = uv T uwdx vwdx
du dv
8. ﬂ(z)zvﬁ_“ﬁ
dx \v vz_
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10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

—@W") = nu 1! %
dx dx

dy dydu (Chai le)
I = dudx ain rule
du 1
dx  dx
du

L du
7 Sinu = cosu—
d . du
7 Cosu = —sinu—
d du

—tanu = sec?u—

dx dx
d

a#0,1

l —dl _1du
dx T et T L

etdu
dx

d
dxe

o1 du

vinu YU

vlnui[

dx

vinu _ e

lnul =
vinul=e -

50

dv

—+u’lnu—

dx



gl_l‘)..gﬂ Sl /E..\SM d\}d PRYPOA| d\j-\ﬂ k"_ILJLzJ‘ /2 t;); 7 D)A\AA.“ )m ﬁ‘)s &R .J\

Zy daisdl Wi AW Jlgll dide s Jboe

1, f2)=322-2"1, Z,=i
fl(Z)y=6Z+2727*
1
f ("')_6("')"'(1-)2 =-1+1i6
2. f(2)=izZ? + (n - i)Z, Zy=im
F(2) =2iZ + (- i)
fi(im) =2i(in)+n—i=-2n4+n—i=-nm—1i

Differentiability and Cauchy- Gles)-s%9S (o9 Bl 48
Riemann Conditions

(W §sind O o WG £7(Z) Blanadl LB A1l o813

Uy + iV = —ilU, +V,

Ur=Vy) . : ;
szz'_Uy} Uhﬁ)"qwﬁgg#bw

ou oU oav

== = Al (glane cS81) Z dhaad wie Bnad) AL £(Z) = U + iV D) 05
x 0y 0Ox

: . b wm e av
.uhﬁ)gszg#yw(yuxgbég?jﬁs;j

B b6 AW A1 gd 9S5 &1 bladl sa> Jla

1. f(Z) =22
f(Z2)=(x+iy)? =x% —y? + 2ixy
= U = x? —y?, V =2xy
U, = 2x, V, =2y
U, = -2y, Vy = 2x
Uy =2x =1, U, =-2y ==V,
Loladl anezr (3 Glaxad bl A1 O T olasy-s0sS Jo 2 Gam Al -
f'(Z)=Ue+ iV, =2x+i2y =2(x+iy) = 2Z
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) F2) = |21
£(2) = 22 +y?

>U=x>+y% V=0

U,=2x, V=0
Uy=2y, V,=0
Z=0¢lx =y = 0% hasd oladsn Ola oS o & 0l Ul oy
Uy =V,
Ve = _Uy
Jaid 7 = 0 Aid) e Blnsd AL6 £(Z) = |Z]2 A -

} atx = 0&y = 0only
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